Auxiliary Problems for Chapter 17 
1.
Economic growth can result from 1) increased use of existing capacity, or 2) increased capacity. For each of the following, identify the source of economic growth (1 or 2).  

a) 
A law in an underdeveloped country which allows women to enter the labor force. 
b)
A new technology which improves manufacturing productivity in a country.  
2.
a)
If Haiti’s per capita GDP of roughly $1600 increases by a rate of 1.2 percent per year, how many years will it take for its per capita GDP to double?

b)
Given Haiti’s per capita GDP above, what will be its GDP if Haiti’s population is roughly 7.6 million.

c)
Based on the calculation of Haiti’s GDP in b) above, what is the value of the services produced by the Haitian economy if services account for 50 percent of the Haitian economy?

3.
If the labor force increases by 2 percent each year and productivity increases by 3 percent, how fast will output grow?

4.
Calculate annual per capita growth in the following countries: 
a) 
India: population growth = 2.5 percent; GDP growth = 6 percent
b)
United States: population growth = 0.5 percent; GDP growth = 3 percent
c)
Singapore: population growth = -0.5 percent; GDP growth = 4 percent
5.
Suppose in 2009, approximately 60 percent of the adult population (300 million) was employed. If the employment rate increased to 63 percent:
a) 
How many more people will be working?
b)
By how much would output increase if per worker GDP in 2009 was $78,000?

6.
If output per worker is now $58,000 per year, how much will the average worker produce 10 years from now if productivity improves by:
a) 
2.0 percent per year
b)
3.0 percent per year

